W and y
0.5

T T I_I___I__I

1.0

— 0.013(18) x = 0.910(75) => 0.910(75)
rm490 med(mad) AC.BF

EI _! _ _ I I | I I I I | I I I I | I I I_I

|

IlllIIlII
IMIII““WI

—I|'|III| it I i II IIII iI o iIIII It

[ e a—

—_—

__-P—

T I.. L IJIIIII"I J I"‘“IIIJII““IIIJIIIII |I

'IIIII Wi R g I ‘m mv
II T " 1 III" I' "lr ol i IIIIIIII / d s

'i"i"I |

"IIII"IIIII IIII L 'IIIIIIIIIWIIIII*II'HIIMI g ior g A

I’IIII“I"II”IIIW g g IIIWI IWIM IO A RN I‘I wwmwmwwm v

I5OO 2000 5000

2<—0.00
N (R) z = 1.95289



